ESERCITAZIONI DI ANALISI 1

1. Determinare la soluzione del seguente problema di Cauchy.

IS

"(x) +2u (z) + u(z) =0
u(0) =1
u'(0) =2
2. Determinare la soluzione del seguente problema di Cauchy.
4" (x) — 200/ () + 25u(z) =0
u(0) =0
u'(0) = =2
3. Determinare la soluzione del seguente problema di Cauchy.
u’(x) — 6u/(z) + 34u(z) =0
u(0) =2
uw'(0)=0
4. Determinare la soluzione del seguente problema di Cauchy.
u'(z) — 6u/(x) + 9u(z) =0
u(0) =1
uw'(0) =3
5. Determinare la soluzione del seguente problema di Cauchy.
w(x) + 2u' () + 2u(z) =0
0)=0
uw'(0) =1
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6. Determinare la soluzione del seguente problema di Cauchy.

7. Determinare la soluzione del seguente problema di Cauchy.

u'(z) = (322 + 2)u(z)
u(l) = —1



10.

11.

12.

13.

14.

. Determinare la soluzione del seguente problema di Cauchy.

u'(x) + su(z) =0
u(4) =6

. Determinare la soluzione del seguente problema di Cauchy.

v (z) + sin(z)u(z) =0
u(0) = 4e

Determinare la soluzione del seguente problema di Cauchy.

u'(z) = 3y/zu(x) in (0, 4+00)
u(0) =1

Determinare la soluzione del seguente problema di Cauchy.
{ zu'(z) + 2?u(z) — 822 =0 in (0, +00)

u(0) =8

Determinare la soluzione del seguente problema di Cauchy.

u' () + hzu(r) = 6z
u(0) =1

Determinare la soluzione del seguente problema di Cauchy.

U () = —6zu(z) + 3¢ cos(x)
u(0) =4

Determinare la soluzione del seguente problema di Cauchy.

u'(x) +4u(z) =0
0)=1
u'(0) = —2
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